pru's cons

19-2530 R



Republic of the Philippines Department of Science and Technology PHILIPPINE SCIENCE HIGH SCHOOL CENTRAL LUZON CAMPUS



29 April 2019

NOTICE OF AWARD

JUNA CHRIS A. RICAMARA Sales Manager GOLDEN BAT (FAR EAST) INC. 52 Sct.O.M. Alcaraz cor. D. Tuazon Sts. Quezon City

Dear Ms. Ricamara,

We are pleased to inform you that the Philippine Science High School – Central Luzon Campus Management Committee has approved to award the contract for the project: SUPPLY AND DELIVERY OF LABORATORY MATERIALS FOR PSHS CENTRAL LUZON CAMPUS to your company as the Lowest Calculated Responsive Bid (LCRB) with the amount of TWENTY TWO THOUSAND SIX HUNDRED FIFTY PESOS AND 00/100 (PHP 22,650.00) and details as follows:

DESCRIPTION	QTY	BID AMOUNT (UNIT PRICE)	BID AMOUNT (TOTAL AMOUNT)
Stainless Steel Spatula: 9 inches	20 pcs	390	7,800.00
Erlenmeyer flask, 125ml 76516-125	30 pcs	185 /	5,550.00
Beaker, 50ml	20 pcs	140	2,800.00
Cover slip: box of 200	10 packs	100/box of 100	1,000 (box of 100)
Iron rings with clamp:3"	10 pair	200 -	2,000.00
Dissecting kit:7pcs tools per kit	10 Kit	350	3,500.00
		TOTAL	Php 22,650.00

Please indicate your concurrence by signing on the space below "Conforme" and return the duly signed Notice of Award to PSHS-CLC within three (3) days upon receipt.

Thank you.

Very truly yours,

theres anne o. DI **Campus Director**

Conforme:

A BATAMAN EAST) INC. JUNA UHRIS

Name in Print and Signature of Authorized Representative or Signing Authority 0429-2019

Lily Hill St., Clark Freeport Zone, Philippines

http://clc.pshs.edu.ph

(045) 499-0136 or (045) 499-5597



21

Republic of the Philippines Department of Science and Technology PHILIPPINE SCIENCE HIGH SCHOOL CENTRAL LUZON CAMPUS



29 April 2019

NOTICE OF AWARD

MARY JANE APUADA Company Representative MARS LABORATORY INSTRUMENTS CENTER Unit 610 Prestige Tower F. Ortigas Jr. Rd. Ortigas Center, Pasig City

Dear Ms. Apuada,

We are pleased to inform you that the Philippine Science High School – Central Luzon Campus Management Committee has approved to award the contract for the project: SUPPLY AND DELIVERY OF LABORATORY MATERIALS FOR PSHS CENTRAL LUZON CAMPUS to your company as the Lowest Calculated Responsive Bid (LCRB) with the amount of FOUR THOUSAND ONE HUNDRED SEVENTY PESOS AND 00/100 (PHP 4,170.00) and details as follows:

DESCRIPTION	QTY	BID AMOUNT (UNIT PRICE)	BID AMOUNT (TOTAL AMOUNT)
Burette: 25ml	3 pcs	550	1,650.00
Burette: 50ml	3 pcs	840	2,520.00
		TOTAL	Php 4,170.00

Please indicate your concurrence by signing on the space below "Conforme" and return the duly signed Notice of Award to PSHS-CLC within three (3) days upon receipt.

Thank you.

Very truly yours, RESA ANNE O. DDAZ

Campus Director

Conforme:

MARS LARGEATERY INSTRUMENTS PENTER Name in Print and Signature of Authorized Representative or Signing Authority Date: 04 - 29 - 19

http://clc.pshs.edu.ph



1.

Republic of the Philippines Department of Science and Technology PHILIPPINE SCIENCE HIGH SCHOOL CENTRAL LUZON CAMPUS



29 April 2019

NOTICE OF AWARD

LEONORA CABALLA Sales Coordinator STARLAB MEDICAL AND SCIENTIFIC APPARATUS SUPPLY Bacoor City, Cavite

Dear Ms. Caballa,

We are pleased to inform you that the Philippine Science High School – Central Luzon Campus Management Committee has approved to award the contract for the project: SUPPLY AND DELIVERY OF LABORATORY MATERIALS FOR PSHS CENTRAL LUZON CAMPUS to your company as the Lowest Calculated Responsive Bid (LCRB) with the amount of FORTY THOUSAND ONE HUNDRED NINETY PESOS AND 00/100 (PHP 40,190.00) and details as follows:

DESCRIPTION	QTY	BID AMOUNT (UNIT PRICE)	BID AMOUNT (TOTAL AMOUNT)
Burette clamps: double buret clamp	5 pcs	450.00	2,250.00
Centrifuge tubes: 15ml capacity, PP plug seal cap, pack of 50	1 pack	690.00	690.00
Sieve, # 10: stamless	2 pcs	3,600.00	7,200.00
Sieve, # 12: stainless	2 pcs	3,600.00	7,200.00
Erlenmeyer flask, 500ml	30 pcs	245.00	7,350.00
Alcohol lamp, 150ml	25 pcs	125.00	3,125.00
Glass funnel, 100mm	10 pcs	295.00	2,950.00
Suction flask, 250ml, filtering flask	10 pcs	450.00	4,500.00
Rubber hose tubing: 1/4 x 1/16" per foot	10 foot	75.00	750.00
Weighing container: at least 5g-10g . capacity or 5ml-7ml capacity, pack of 500	1 pack	2,800.00	2,800.00
Alligator clips with wire	25 pcs	55.00	1,375.00
		TOTAL	Php 40,190.00

Please indicate your concurrence by signing on the space below "Conforme" and return the duly signed Notice of Award to PSHS-CLC within three (3) days upon receipt.

Thank you.

Very truly yours,

THERESA ANNE O. DIAZ

Campus Director

Conforme: aballa Leonora G. Caballa

Name in Print and Signature of Authorized Representative or Signing Authority Date: April 29, 2019

Lily Hill St., Clark Freeport Zone, Philippines

http://doi.clpstin.edu.pri

(945) 495-0136 or (045) 495-5567



1

Department of Science and Technology PHILIPPINE SCIENCE HIGH SCHOOL CENTRAL LUZON CAMPUS



29 April 2019

NOTICE OF AWARD

MARIA ANA L. MERAN Proprietor GLOBAL LAB SCIENTIFIC ENTERPRISES Marikina City

Dear Ms. Meran,

We are pleased to inform you that the Philippine Science High School – Central Luzon Campus Management Committee has approved to award the contract for the project: SUPPLY AND DELIVERY OF LABORATORY MATERIALS FOR PSHS CENTRAL LUZON CAMPUS to your company as the Lowest Calculated Responsive Bid (LCRB) with the amount of FIFTEEN THOUSAND SEVEN HUNDRED SEVENTY FIVE PESOS AND 00/100 (PHP 15,775.00) and details as follows:

DESCRIPTION	QTY	BID AMOUNT (UNIT PRICE)	BID AMOUNT (TOTAL AMOUNT)
Iron stand: 24in height, rectangular base, local	10 pcs	505.00	5,050.00
Micropipette tips: yellow, 2-200ul capacity pack of 1000	2 packs	600.00	1,200.00
Micropipette tips: blue, 50-1000ul capacity pack of 1000	2 packs	600.00	1,200.00
Disposable gloves: latex powder free, medium, pack of 100	6 packs	350.00	2,100.00
Spin bar 1"x 5/16	15 pcs	275.00	4,125.00
Disposable mask: pack of 50	3 packs	100.00	300
Burette: 10ml	3 pcs	600.00	1,800.00
		TOTAL	Php 15,775.00

Please indicate your concurrence by signing on the space below "Conforme" and return the duly signed Notice of Award to PSHS-CLC within three (3) days upon receipt.

Thank you.

Very truly yours,

HERESA ANNE O. DIAY **Campus** Director

MARIA ANA L. MERAN

Name in Print and Signature of Authorized Representative or Signing Authority Date: 41, 2019

Lily Hill St. Clark Freeport Zone, Philippines



:

Republic of the Philippines Department of Science and Technology PHILIPPINE SCIENCE HIGH SCHOOL CENTRAL LUZON CAMPUS



29 April 2019

NOTICE OF AWARD

MARY JANE APUADA Company Representative MARS LABORATORY INSTRUMENTS CENTER Unit 610 Prestige Tower F. Ortigas Jr. Rd. Ortigas Center, Pasig City

Dear Ms. Apuada,

We are pleased to inform you that the Philippine Science High School – Central Luzon Campus Management Committee has approved to award the contract for the project: SUPPLY AND DELIVERY OF LABORATORY MATERIALS FOR PSHS CENTRAL LUZON CAMPUS to your company as the Lowest Calculated Responsive Bid (LCRB) with the amount of FOUR THOUSAND ONE HUNDRED SEVENTY PESOS AND 00/100 (PHP 4,170.00) and details as follows:

DESCRIPTION	QTY	BID AMOUNT (UNIT PRICE)	BID AMOUNT (TOTAL AMOUNT)
Burette: 25ml	3 pcs	550	1,650.00
Burette: 50ml	3 pcs	840	2,520.00
		TOTAL	Php 4,170.00

Please indicate your concurrence by signing on the space below "Conforme" and return the duly signed Notice of Award to PSHS-CLC within three (3) days upon receipt.

Thank you.

Very truly yours, HERESA ANNE O. DIX

Campus Director

Conforme:

Mary Jake G. Apuada

MARS 16908/TORY LISTRUMENTS PENTER Name in Print and Signature of Authorized Representative or Signing Authority Date: 04 - 29 - 19

http://clc.pshs.edu.ph



:*

Department of Science and Technology PHILIPPINE SCIENCE HIGH SCHOOL CENTRAL LUZON CAMPUS

····· [* [* · · · · ·



29 April 2019

NOTICE OF AWARD

JOSIE V. CRUZ Company Representative CHEMLINE SCIENTIFIC CORPORATION No. 28 Law Street/ Victoria Subdivision Tandang Sora, Quezon City

Dear Ms. Cruz,

We are pleased to inform you that the Philippine Science High School – Central Luzon Campus Management Committee has approved to award the contract for the project: **SUPPLY AND DELIVERY OF LABORATORY MATERIALS FOR PSHS CENTRAL LUZON CAMPUS** to your company as the Lowest Calculated Responsive Bid (LCRB) with the amount of FIVE THOUSAND EIGHT HUNDRED FORTY FIVE PESOS AND 00/100 (PHP 5,845.00) and details as follows:

DESCRIPTION	QTY	BID AMOUNT (UNIT PRICE)	BID AMOUNT (TOTAL AMOUNT)
Magnetic stirrer bar retriever: 18inches long	5 pcs	780.00	3,900.00
Glass slide: 3x1", pack of 72	3 packs	65.00	195.00
Inoculating loop	10 pcs	45.00	450.00
Magnifying lens: 100mm	10 pcs	130.00	1,300.00
		TOTAL	Php 5,845.00

Please indicate your concurrence by signing on the space below "Conforme" and return the duly signed Notice of Award to PSHS-CLC within three (3) days upon receipt.

Thank you.

Very truly yours, ERESA ANNE O. DIAZ Campus Director

Conforme:

Khate C. Apat / CHEMUNE SCIENTIFIC CORPORATION Name in Arint and Signature of Authorized Representative or Signing Authority

Date: 12 9 APA 2019